fe A28 B — 4o
.

% [ A4z (Modular Addition)
4 (a+b)modn
® 6+7=3 & 13= 3 mod 10
® 0~9 2 fFenfe 442 (Modulo 10), n=10
® = 7 [(@mod n) + (b mod n)] mod n = (a + b) mod n
® %3 ° [(48 mod 15) + (66 mod 15)] mod 15 = (48 + 66) mod 15
® 2 :8=[3+6]mod 15=9 + ¥ =114 mod 15=9
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e A28 e — 4o

g - 5 =5
= B3 FmEp il ARG 1 2 3
& K_+K,=10

FLAESgRL(Kp): 9 8 7
@ (K, +K.) mod 10 =0 .

® y+yimodn =0
L
® K_=3+ K =7~ (K,+K.) mod10 =0 ~ n=10
® M=5
® 4&cp C=Kc+M=3+5=8
® fz2 M =K,+C=(7+8)modn=15mod 10 =5
® M'=M
® P 7 E I3k wdel o

B o 5




